Peer Review

EXAMPLE:

Percentage given to A toB (toC |[toD |toE
by A *) 100 65 100 55
by B 85 *) 55 80 70
by C 75 100 *) 60 80
by D 80 100 60 *) 75
by E 80 100 60 80 *)

Individual Average 80 100 60 80 70

Grand Average = (80 + 100 + 60 + 80 + 70)/5=78

Individual Av./Grand Avg 80/78 100/78 | 60/78 80/78 70/78

WEIGHTS 1,03 1,28 0,77 1,03 0,9

So, if the mark was 25, then:

A would get (1,03x25) =25,75

B would get (1,28x25) =32

C would get (0,77x25) =19,25

D would get (1,03x25) = 25,75

E would get (0,90x25) =22,50




